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NASEOHQ! MEH| X A X2 1,3%8 1,300 58
= 679
< 204
s 475
301 EtE NS 1,358 1,300 58
= 679
== 204
[Ea 475
01 ARSI 2E AL S(SRNEXME) 1,358 1,300 58
cHMES AANE 2 (A & ZAHI)
1,358,000 1,358
= 679
== 204
o 475
LETHEAHIA BIRH X 136,597 116,353 20,244
= 95,617
== 12,294
o 28,686
308 AFAIEHMSOIE 136,597 116,353 20,244
= 95,617
= 12,294
o 28,686
18 S| 2SS ZB XA AIE 136,597 116,353 20,244
S Z0HOISIIEXI A (L ETHZAHI2)
34,149,2503 4= | 136,597
= 95,617
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LETHEMHIA EH| ALY 48,000 48,000 0
= 14,400
Ea 33,600
301 EtE NS 48,000 48,000 0
=S 14,400
s 33,600
02 ANRI2HHSHS(HAAS, NLHE) 48,000 48,000 0
oYU THEAHIA TH| HHAMY
12,000,000& #4221 48,000
< 14,400
= 33,600
LEEOHR! XtEZ2(EHI) 5,600 7,000 21,400
= 1,680
Ea 3,920
307 el2to| & 5,600 7,000 1,400
= 1,680
o 3,920
10 Al SXAZEE 22X 5,600 7,000 21,400
oY N2y
5,600,000 * 104 2 5,600
[ 1,680
T 3,920
ORI =D W2 12,503 55,671 AN43,168
= 2,803
[Ea 9,700
301 EtE N = 3,503 46,671 A\43,168
= 2,803
o 700
01 Al EE A S(FRDEEMA) 3,503 4,671 A1,168
o ZHel EX017] X 3,503,000& 3,503
= 2,803
[ 700
307 glztol & 9,000 9,000
06 2= 9,000 9,000
oZOfQl EXI|D| MUSEE
9,000,000& %12 9,000
Zoie! 2sSXHFSHAE 5,195,177 3,770,389 1,424,788
= 3,636,624
= 467,566
= 1,090,987
308 AHXIEMSOIH 5,195,177 3,770,389 1,424,788
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= 840
=S 108
s 252
01 ARRIE2HHSHS(SNEXRTHE) 1,200 2,000 2800
oHE R E4HHIE AR
1,200,000 1,200
= 840
= 108
o 252
SHEZ N F=EIHZALS 19,000 7,600 11,400
= 9,500
S 2,850
o 6,650
402 2I2F X201 & 19,000 7,600 11,400
= 9,500
= 2,850
[Ea 6,650
02 QI A2 AL E R (0IETHE) 19,000 7,600 11,400
oE0/E OjO! ESIHEAI
3,800,000 x56H 19,000
= 9,500
= 2,850
o 6,650
AEFOHR! 2|=Hl K& 14,325 14,325 0
=S 2,865
s 11,460
301 EtE NS 14,325 14,325 0
< 2,865
[Ea 11,460
02 MBI 2HHSFHS(FHAANS, KLHE) 14,325 14,325 0
oAFEMR o=2H XA
119,370 x10E 123 14,325
= 2,865
= 11,460
Z0Hel DEEZ SHOIIHASHE D] X (EX) 1,600 2,000 2400
=S 400
s 1,200
307 @I2t01 & 1,600 2,000 A400
== 400
[Ea 1,200
11 AMRISXAEEES 1,600 2,000 2400
o0l NEE=Z SHOIIHA S| X
25,0002 ~6ACH 1,600
= 400
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22d0ie =S HEAXRA 108,080 91,421 16,659
= 75,656
= 9,727
Ea 22,697
308 AHAIEMSOIE 108,080 91,421 16,659
= 75,656
= 9,721
= 22,697
18 SIS0t oA AS A 108,080 91,421 16,659
oW TRl YUSHEAH|A XL
27,020,000 *4=7| 108,080
= 75,656
= 9,721
= 22,697
LEHR FHESHEIAXA 236,455 270,676 N34,221
= 165,519
== 21,281
= 49,655
308 XXM SOl 236,455 270,676 A34,221
= 165,519
& 21,281
Ea 49,655
18 SIS0t 34 A A A 236,455 270,676 N34,221
oYL Hf FABEMLIA XD
59,113,750 4= | 236,455
= 165,519
S 21,281
[Ea 49,655
=D =HEEY MASE X 11,751,815 8,726,465 3,025,350
= 9,318,292
= 1,159,162
= 1,274,361
a2y 11,751,815 8,696,764 3,065,051
= 9,318,292
< 1,159,162
= 1,274,361
IZdE2Y & SEXTAER =4 15,970 27,172 A11,202
201 er23| 12,970 20,672 AT, 702
01 At2tltl 8,970 12,672 N3, 702
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10,000& #1702 1,700
oSS EF ARES
34,0003 +55+53 850
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M 20| ZMBYUE HASS N
el J=MeEs8d (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 6,875
NS0 XNEAS(EX) 1,652,866 1,338,911 313,955
= 1,322,292
= 165,287
Ea 165,287
301 EtE NS 1,202,866 888,911 313,955
= 962,292
= 120,287
= 120,287
01 Al EE A ZS(2REXMR) 1,202,866 888,911 313,955
o=J=0(6408) 1,202,866,000& 1,202,866
= 962,292
< 120,287
s 120,287
308 AXIMSOIA 450,000 450,000 0
= 360,000
< 45,000
= 45,000
18 SIS0t 4 A A A 450,000 450,000 0
oFHE ST 2l (640H)
450,000,000& 450,000
= 360,000
[ 45,000
T 45,000
M= = 17,849 12,201 5,648
308 AHXIEMSOIH 17,849 12,201 5,648
08 W=J|A0He 2 & 17,849 12,201 5,648
S| ZMEEYH NFSH(ZHIFES 100)
17,849,000 * 104 2 17,849
HRAZEQU(EX) 45,000 45,000 0
= 45,000
201 er2&| 45,000 45,000 0
= 45,000
01 AtR2t2lt] 45,000 45,000 0
CETNAT HRAR 282
3,000 *1,250 L+ 12 45,000
= 45,000
NAS 201 ID=SA SSECIAE 5,000 10,000 5,000
301 22N = 5,000 10,000 25,000
02 MBI 2HHSFHS(HAANS, XLHE) 5,000 10,000 25,000
o MAS 21 NSEA KEHCAY
1,000,000 «6H 5,000
A2l SXSEMEIA X 1,737,533 1,523,161 214,372
= 248,024
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=

M AlRISXSEAHA X
Selr XaHS XY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 666,463
Jl 67,000
= 195,306
= 560,740
A2AAHE K& 1,321,725 1,142,104 179,621
= 666,463
7l 67,000
= 150,031
o 438,231
S|g=X XA 23,936 27,480 A3,544
201 fer=3| 9,336 12,080 N2, 744
01 At 22|l 9,336 12,080 N2, 744
oLBHEH FY 250,000 x2H 500
oARES 7 50,000 x4 S+62 1,200
o3lg=l =248, 88Ul S
250,000 %102 2,500
osly=N|YR 27 222 7Y
5,000&x25+2000H 2,000
csy=xee £& 3|
8,0003 x4 08! 3,136
202 04l 4,400 5,200 A800
NETEE 4,400 5,200 2800
SEEENEEESS
20,0002 x4 x5 4,400
307 @120l & 10,200 10,200
11 AMISXAIEEX 10,200 10,200
o0|S%ciy 24 850,000& * 122 10,200
MNas =0 deoty X2 22,000 27,000 25,000
301 LELE NS 22,000 27,000 25,000
02 A2 EH LGS (HAAS, NLWE) 22,000 27,000 5,000
oMAS M4 =st0{dl ZH| X
200,000& *50H 10,000
oHE 2SS 6,000,000 22 12,000
== DN PN 4,020 8,640 A4,620
301 EetE NS 4,020 8,640 A4,620
02 ANRI2HHSHS(HAAS, NLHE) 4,020 8,640 24,620
oA Xt It 20,0002 48 960
oHAIAE Xt MEH|
250,000 +8Y 2,000
oduldE ikt YAH|
60,0002 %1 60
ogi At ZXHlHI 1,000,000& 1 1,000
NASE HAISotA 16,500 16,500 0
301 22N = 16,500 16,500
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E M

=X

ARISXSSAEIA X
X

Celr XHARIHS A (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 16,500 16,500 0
oMaSE 4l Fotol=cll
25,0003 +660 16,500
AHAI2IRIALY 2E(EX) 15,000 15,000 0
[ 7,500
= 2,250
= 5,250
201 Ler=23 | 7,500 7,500 0
= 3,750
< 1,125
= 2,625
01 At2t2ltl 7,500 7,500 0
oMN2SXSEAMHIA Atdl2eIAY E2S
M 7,5003 %5002 #2353 7,500
= 3,750
[ 1,125
T 2,625
301 EtE NS 7,500 7,500 0
= 3,750
[ 1,125
Ea 2,625
01 A2 EH B3 (RNEETHE) 7,500 7,500 0
oAt 22l &R Jh= X1l
937,500 x84 7,500
= 3,750
< 1,125
[Ea 2,625
XNETESE AMSIMHIA ETTAIE (EX) 728,750 634,965 93,785
= 583,000
== 43,725
[Ea 102,025
202 04| 1,000 2,000 21,000
= 800
=S 60
s 140
01 2LHA b 1,000 2,000 21,000
SXIARSI MHIA EXIAFY =& 04
10,0002 18 %100 1,000
= 800
S 60
o 140
308 AFAIEHMSOIE 727,750 632,965 94,785
= 582,200
= 43,665
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A FRISXID
M Al SXSEAHIA KR
&l HARIAE KR (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
[ 101,885
13 I 2SHICHEHE &&= ALY 727,750 632,965 A,785
STIGAABIHHIA STAI
1,550,000 =380 589,000
= 471,200
& 35,340
[ 82,460
oHANISHL XA
416,6663 x6H 2,500
= 2,000
& 150
o 350
S IIARIE S 2 XIJ AL
4,722,222 x9Y 42,500
iy 34,000
T 2,550
[ 5,950
cdASSMHIA A
3,906, 250& x24H 93,750
ax 75,000
T 5,625
= 13,125
SHE YEE SEAMHIA(BX6ES) Xd 108,519 108,519 0
iy 75,963
T 3,256
= 29,300
201 B2 AY| 37,91 37,961 0
= 26,573
& 1,139
[ 10,249
01 A=R2teld| 37,961 37,961 0
ogH AFHF=EA 29 2EFY
3,451,000& 11 37,961
= 26,573
& 1,139
= 10,249
301 LB F 70,558 70,558 0
= 49,390
& 2,117
= 19,051
01 AISIBE XS (2 UETME) 70,558 70,558 0
o2 SIEESK Atdl2eltia it K&
6,414,3632 111 =™ 70,558
= 49,390
& 2,117
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PQIEIIEOUH HlA X2

&l HARIAE KR (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 19,051
felsul iZ2A SX0ISH 228 X 336,000 267,000 69,000
== 100,800
[Ea 235,200
201 =3 16,300 13,200 3,100
< 4,890
s 11,410
01 At2tltl 16,300 13,200 3,100
oclsUl SAVISH 28 =5+Y
1,481,810& 1S H 16,300
= 4,890
Ea 11,410
301 Eet2 NS 319,700 253,800 65,900
== 95,910
o 223,790
02 ARSI 2E AT S(FIANS, XLETHE) 308,000 0 308,000
oSl SAVISH 4ty N2
8,909,000« 11JHSH 98,000
= 29,400
= 68,600
oclsul SAVISU da=Eid X3
19,000,900« 11 EH 210,000
=S 63,000
s 147,000
11 dALEEIXIE S 11,700 10,000 1,700
oQRSY =XIISH BE P&
1,063,630« 110HSH 11,700
= 3,510
= 8,190
fesdl SIS SAIISAHY 67,000 37,000 30,000
) 67,000
301 EtE NS 67,000 37,000 30,000
Il 67,000
01 Al EE AL S(FREXH) 67,000 37,000 30,000
L2SY SNIISH 2 (2HIIB)
676, 7603 * 11015 H+90t 67,000
7l 67,000
USAL Ol & 2l 19,290 0 19,290
= 7,500
= 4,500
Ea 7,290
DA O 2 ZRIHAH PE(EX) 15,000 0 15,000
= 7,500
= 4,500
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M Z=ol=x
M AIS=XSSAMHIA X
EI9l: KIRAZARIE X2 LR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 10,900
s 85,344
NASAES N2 36,300 55,500 /19,200
201 er23 | 2,300 6,000 A3,700
01 At2teltl 2,300 6,000 A3,700
STASAR T3l B HE S
10,0003 x30& *13] 300
oM BEYA 222 22 2
5,0002 %1002 *43] 2,000
206 M=H| 3,000 3,000
01 MHZH| 3,000 3,000
oNASAES M=Hl A&
30,0002 x50 #2323 3,000
301 EtE N = 4,000 8,500 4,500
11 #AIAMHIXIE S 4,000 7,500 A3,500
S XHASALRHEAL EF01) X2
8,000 x25& »202 4,000
307 21201 & 27,000 38,000 211,000
02 LB AANHEE 22,500 33,000 210,500
olHEASA 22208 X2
1,500,000 %1500 2 22,500
04 CIZHHAMAIH 2 & 4,500 5,000 A500
o N SAHAL tHalXI&
4,500,000 * 10 2= 4,500
AESAHAE 29 24 5,750 8,930 23,180
201 fet= 3| 1,950 4,090 A2,140
01 AtR2tc|HI 1,350 3,100 A1,750
oNHESMHR =L AIRES
50,0002 x55+42 1,000
olt2SA2E?de HH+g
70,0002 x5 «13] 350
2 s5=34l 600 990 A390
oSt A SAHE 2l 600,000 600
202 04| 3,800 4,840 1,040
01 2L AL 600 1,000 A400
o XA SAH ZLIUIOIE 2us FA0H|
50,0002 x2H +62] 600
02 XN 3,200 3,840 AB40
oXHESAH 2CIUI0IE 2 R04H|
160,000 x2&* 10 3,200
A= SE NJSAEE I MEIA TA(EX) 3,048 2,470 578
= 1,524
o 1,524
307 @120l & 3,048 2,470 578
= 1,524
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SA: FoI=X D
3 AMI=SNSEMEIA XIS
el AESAKE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 1,524
06 28= 3,048 2,470 578
oNESAMAL 288 K&
20,3203 %150 3,048
= 1,524
[Ea 1,524
NASA 2835 NJ(EX) 13,670 13,340 330
= 4,100
= 9,570
201 Ler23| 3,970 3.470 500
= 1,190
Ea 2,780
01 Al 22| 3,970 3,470 500
oNASNES 222 7Y
5,0002+5002 *13] 2,500
== 750
o 1,750
CNASABE LDE(HARE S) 2
10,0003 #1475 1,470
== 440
o 1,030
307 gl2to| & 9,700 8,870 830
=S 2,910
s 6,790
02 QB HANEER 9,700 8.870 830
oRASAZSH N (YE ©2,5HLs)
5,000,000 * 104 2 5,000
= 1,500
2 3,500
ollsE Fsg HRASH(RLT2IH)
A& 2,350,000 *20H 2= 4,700
= 1,410
o 3,290
IIRAE NMSAS(FEYWD) XJ(2X) 34,000 34,000 0
[ 6,800
Ea 27,200
307 elztol & 34,000 34,000 0
S 6,800
= 27,200
11 AMEISXAIEEE 34,000 34,000 0
I|FASHSAIE
2,833,330 * 14 2+ 12 34,000
= 6,800
o 27,200
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SN OISR D
M AlRISXSEAHIA X2
&2l TG SAHE XA (SH &)
SA - BB - I3 - MIRAE - ofl &t G o HIDEZ
JISAE HBARK(EESI) X (XHH) 5,000 5,000
307 212told 5,000 5,000
11 ARIS XA 2 X 5,000 5,000
SIISAE HBAY(EEWI) 2Y BE
416,660 «1H* 123 5,000
HY2HHHI(=/=X) 307,251 325,941 18,690
= 33,234
[ 94,066
= 13,857
= 166,094
el 2| 282,336 299,001 A16,665
= 33,234
= 94,066
=S 13,857
ia 141,179
SEAHIZ2IAL 1Al X (EX) 69,456 67,752 1,704
[ 34,728
= 3,473
Ea 31,285
101 @12A4H| 56,49%6 54,792 1,704
[ 28,248
= 2,825
[ia 25,423
03 SR (RINAHA) 222+ 56,496 54,792 1,704
oSeAtell2&elAt 214H| X1
2,354,000 2H 123 56,496
Fas 28,248
S 2,825
s 25,423
4 HSRESS 12,960 12,960 0
[ 6,480
< 648
= 5,832
04 R (RIHA)22N BEESRES S 12,960 12,960 0
oSgAtdlZcIAN DEMHESER
80,000 =2 128 1,920
= 960
< %6
s 864
oSgAtdl2cIA =8ltis 282
130,000 x2&* 122 3,120
[ 1,560
== 156
= 1,404
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M Z=ol=x s
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oSEAtdl2CIAL R2ALEE=
170,000 =2 * 12 4,080
= 2,040
[ 204
T 1,836
oSE At 2CIAL BIANES
160,000 x2&* 122 3,840
= 1,920
< 192
s 1,728
SEALEIZCIAL Q18] X1 (XEA) 24,240 21,280 2,960
101 @12A4H| 18,000 14,440 3,560
03 SRH(RINHA) 222+ 18,000 14,440 3,560
oSehAtel&elAt 21A4H| X1
2,250,000 «2& ~4 & 18,000
202 04| 6,240 6,840 A600
01 =LHOLI 2,400 3,000 2600
oSEAtAIZRIAL 22 W0
100,000 x2& * 123 2,400
02 XN 3,840 3,840 0
o SEAtHIZRI A U
160,000 x2&* 122 3,840
KEEAH 20UI0IE XIdSY 212H] XIJA(2X) 66,468 62,040 4,428
= 33,234
s 33,234
101 ©1AH| 50,280 50,280 0
= 25,140
[Ea 25,140
03 SR (RINHA) 222+ 50,280 50,280 0
oXHEZAL ROIUIOIE o121 X/
2,095,000 «2& « 12 50,280
= 25,140
= 25,140
M A=FLSS 16,188 11,760 4,428
= 8,004
s 8,004
04 SRA(RIH)22N BEE2RYS S 16,188 11,760 4,428
oXESAH ZOUIOIH =88z 282
271,250 x2E 128 6.510
= 3,255
= 3,255
oAHESAH 2LUIOIH 2212142 28=
271,250 «2F 128 6,510
= 3,255
o 3,255
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2A: F=X1
B MY (FU=ND)
=9 elmEet| (EH9): ®2)
SN - O(BH) - NRAY - BAS 0l & A 2
oXrASAF ZOIHIOIH NEAMTH BE8=
60,0002 2% 12 1,440
2 720
2 720
oXAZA ROILIOIE SXEYZ
72,0002 x2G +12& 1,728
= 864
= 864
NH2ASAF 2CIHI0IH o148l XI& 22,000 17,000 5,000
101 Q14| 22,000 17,000 5,000
03 BRH(RINHS) 22X 2+ 22,000 17,000 5,000
o NHZ2AF 2CIUIOIE 2114H| X (2HIF
I 2,200,000 x2H +52 22,000
o230 2A2IAF 2124H| KR (EX) 74,172 71,500 2,672
= 59,333
& 10,384
= 4,450
101 2124d| 61,248 59,746 1,502
= 48,999
= 8,575
= 3,674
03 BRH(PINHS) 22X 22 61,248 59,746 1,502
oolg g0 &AL 2124H|
2,200,000& x2H *12& 52,800
Fay 42,240
= 7,392
e 3,168
o2lag &AL AlZIRI=E
16, 000 & x22A| 2H2 + 128 8,448
Fay 6,759
T 1,183
= 506
M AZIRE3IS 12,924 1,754 1,170
= 10,339
= 1,809
= 776
M BLA(IHY) 22X B82S 12,924 1,754 1,170
oolgg0&AI EIXEE S
213,403 x2H » 122 5,124
Fay 4,099
= 717
e 308
colzza0AeIAt =2IHE E8E
125,000 2« 128 3,000
Fay 2,400
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A FRISXID
M B2 (FU=X )
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 420
2 180
col2T0ITRIA 20IAY PEI2
120,000 2H 122 2,880
s 2,304
T 403
= 173
colzza0ACIAl UMM E8s
80,0003 x2H 123 1,920
= 1,536
& 269
= 115
o2 0 AaIAF 1248 XI& (REAI) 26,000 8,676 17,324
101 124l 26,000 8,676 17,324
03 SRH(RINHS) 22X 2> 26,000 8,676 17,324
oll230i2telAb 212d| X (XHA)
2,600,000 x2Z+53 26,000
Jl2&l 24,915 26,940 A2,025
J|123&H| 24,915 26,940 A2,025
201 L2 AH| 19,935 21,900 A 1,965
01 AtR22eltl 19,935 21,900 21,965
oEl 250,000 =171 4,250
o= AEX 25,0003 #85 A 2,125
oHHESE 2002 *2,50004 500
RZ2A=Z 5,880
-S4 20,0003 *112+12& 2,640
NN 15,0002 x 188+ 12& 3,240
oFDIFX HRFE ARES
17,0003 108+ 122 2,040
oFUI=X FRFI(BS) S|
8,000 x10H 17 1,360
ocZH=AD| s
165,000 *1CH+ 122 1,980
odaD| AU 50,0003 *12& 600
oZ3JIEEI| iz
50,0003 «2CH* 123 1,200
203 AR F=&lH| 4,980 5,040 AB0
M PA2IHRFALI 4,930 5,040 AB0
<300 =1t
(400,000&+(5,000&*3Y ) )*12& 4,980
Ne&s(F2=XD) 612,474 715,773 103,29
LHEHHKIZ 612,474 715,773 A103,29
LHEHH K= 612,474 715,773 A103,29
701 JIEte| HSHEZ 577,474 650,773 AT73,299
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A FRISXID
I WRES(F0I=X D)
=l WRAAXE EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 JIEtSIHEES 577,474 650,773 AT3,29
cOZSHEEIN MES
577,474,000& 577,474
TR IISEES 35,000 65,000 230,000
01 2I38E3 35,000 65,000 230,000
SYNEIE=INPIE=IESE—= 35,000,000 35,000
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